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SOCIETY OF Science
EDUCATION

CLASS CODE - 006

“Th question paper contalns 4 pages.

1. The food produced by plants through
‘photosynthesis is in the form of sugar is called

TA) Giacoso
©) Calluloss
® Noneof thess

® Starch
(D) Allof these

. Energy can be converted from one form to
another form but it can not be destroyed. Which
one ofthe following converts lectrical encrgy
into thermal energy?

(A) Electric Fan

(®) Toaster

(C) Buming Wax

(D) Bumingfuel by rocket
) Nono of these.

3. Astudent while performing an experiment in
laboratory, accidentally breaks  test tube and
spillsa chemical on the table. What should the
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student doimmediately?

(4) Use water and paper towels 10 lean up the
spllplace the broken est tube n the disposal
‘container specified by the teacher for sharp
objects.

(B) Throw the glass into the nearest trash bin
andlet the spill ar-dry.

(©) Quickly dispose of the glass, wipe up the
spillwith the nearest cloth. and hope nobody
notices.

) He should caution his ab partners to avoid
the area while hé inform the teachoraboutt

(B) Noneof theso

A car travels 100 m towards north, Then 50 m
towards West. Then 100 m towards South, 50
m towards West, 20 m towards East, 20 m
towards South and finally 20 m towards North.

How far the car is from the initial point?
(&) 100m. ®) 50m
(© 150m o) 80m

(E) Noneof these
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[image: image2.jpg]Which ono of the following is correct about the
iven statement?

Red color clothes look more beautiful on gils than

bluo color clothes.

(A) The statement is  poor hypothesis because
itcannotbe tested

(B) The statement s a good hypothesis because
itcanbe tested

(C) The satement is a poor hypothesis because
it cannot be observed

D) The statement is a poor hypothes
itcanbe observed

(©) Noncof these

because

6. An exporiment requires separating sugar
dissolved in water. Which one of the following
cquipmentsis not required in this experiment?
() Beaker (®) Evaporating dish
(©) Tripodstand (D) Allof theso
(E) None of these

) 20
© 55
(E) Nonsof these

® 36
© 71

10. Which one of the fallowing is correct for
obtaining fabrics?
(4) Plants/animals-fibers-yam-fabrics
() Plants/animals-yarn- fbers -fabrics
lants/animals-Gibers-fabrics
imals-fbers-yarn

(E) Noneof these:

1. Some greedy businessman mixes the small stones
with the grains to increase the weight and carn
extraprofit. Bul at homea processof separation
s used to ensuro that no stone remains with the
rain. Whatis the process that is used for the
Separation of stone from grain?

(A) Sieving, (®) Winnowing
(©) Handpicking (D) Filtering
(E) None of these

7. In an experiment you need to separate sand
from a mixture of sand and water. You will
require which of the following lab equipments

alongwith a fiter paper?
1. Beaker 2. Funnel
5. Flask 4. Wireguago
5. Beakertongs

@23 o 12

© 25 24

(E) Noneof theso

8. A person travels a distance of 500 km by hi
car in @ hours. Ifaline graph s used to depict
he distance travelled in each hour, Which one
ofthe following is correct about thisfine graph?
() The distance is shown on the x-axs.

(8) Tho distanco s shown on the y-axis.

(C) The distance can bo shown on the x or y
axis.

(D) The time will be shown on the x-axis and
speed is shown on the y-axis.

(E) Noneof these:

9. A survey was conducted that involved
questioning 100 people to find out whother
Deople ke vegelable pizza or plain checse pizza.
i given Venn diagram shows the resultof the
survey. How many people liko vegelable pizza
or plain cheeso pizza?

12. There is a packet of pulse in a shop marked as
2kg. You buy this packet for your consumption.

What does this marked susgest about pulse?
(4) Woight @® Mass
(©) Quanity D) Number

(E) Noneo these

13. Which one of the following animals moves to
dueto expansion and contraction of muscles?

(&) Cockroach ® Wom
(©) Fish ©) Snake
() None of these

1a. Our body needs 1o speed up the

process of digestion-
(&) Vitamins (®) Rovghage
(C) Proteins ) Alof these

() None of these:

15. ‘The dark window glass ofacar allows minimum
lighis to pass through them and maximu light
isreflected. What kind of lass it s?

(3) Transparent ~ (8) Opaque
(©) Translucont (D) Allof these
) Nonaof these

16. Most of the vehicles have mirrors at both sides.
to view the traffic coming from behind, These
mirrors ensure safety for the drivers on the road.
asheshie can havea proper view of traffic. What
Kind of mircor is used in vehicles for this
purpose?
(4) Concave

®) Convex
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(E) None ofthese

17. Which one ofthe ollowing procedures involev
‘microorganisms? e iyl
() Dehidration.
(©) Absorption
(E) None of these:

(®) Evaporation
(0) Formentaion

18. Our dietcontains carbohydrates, proteins and
other multients required by o body. In the
Case of depletion of carbohydrates our body
draws the same from,

(A) Fiber ) Protein
(C) Fats (D) Vitamins

(E) Noneof these

19, Who coined the term ccology?
() Reiter (®) Haecksl
() Benjohuson (D) None of these

20. Steve took an apple and kept it in the soil. He.
Continuously manitored the place and found
hatitovas compleely mixed and disappoared
inthe oil. Which one of thefollowing ispossible
reason for the same?

(4) 1t disappeared becauss of the action of
decomposers.

(®) It disappeared becauso of the action of
insects.

(©) tdisappearod bocauso of the action of wind.

(0) Itdisappearod because of tho action ofsof.

(€} Nonoof these

21, Moon changs its phaso frequently. What kind
W i et
(8) Reversible change
() Imoversiblo change
(©) Posiodic chango
) Desimble change (£) Nonoof these

22, The roots of some plants are positively geotropic
and are brown in colour.

What are these roots called?
(A) Fibrous oot (B) Taproot
(©) Singleroot (©) Branched root

(E) Noneof these

23, Groon leaves release excess water into the
atmosphero in the form of wates vapour. What
s the name of the process of releasing excess
water nlo the atmosphere?
(4) Bvaporation ~ (8) Condensation
(€) Transpiration (D) Allofthese
() Nonoof these
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and acts on starcl

) Bilejuico
) Allof these
(E) Noneof these

25. Which one of the following acts as lubricant
roduce the friction at certain pointsof our body
(4) Hydrochloricacid (8) Cerebral flid
(©) Synovialfluid (D) Allofthese
(€) None of theso

26, The heterogeneous mixture of decomposin
i or food wase and beading material
caled, 5
) Vormcat
(© Deompost
§) Nonoolthese

(®) Veompost
©) Vampeast

27, Steve traveled 10 miles o bis friend JacK's hom
‘and retuned back 40 miles to his sster Kelly'
home. Which one of the following is correc
about covered distance and displacement?

i =N
= ﬁ_%ﬁ“

(4) Distauce is 60 milesand displacement s 14
miles

() Distance is 140 miles and displacement |
60 miles

(€) Disancods 0 milesand dislacementis o

D) Distanco is 140 miles and displacement |
140 miles

() None of these

20, How much time will be takén by an automobil
totravel 160 miles? The speed of automabile |
60 miles per hour.
(4) 4 hours
() 3 hours
(E) None of these

(B) 120hdurs
) 60 hours.

20, A boy while running covers equal distance i
Caqual interval of times, What kind of motio

the boy has?

(&) Non uniform motion
®) Usiform motion

(C) Strsghtmotion

(D) Allof these

(E) None of these
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[image: image4.jpg]30, Jack has four balls of equal mass: iron ball,
glassball, wooden ball, and aluminum ball. In
which ball he needs t6 apply more energy to
throw?

(4) Wooden ball
(©) Tronball
) None of these.

(8) Aluminum ball
(D) Glass ball

31, Villi are the structures that help in the

absorption of nutrients. Where are these villi
present or where does the absorption of
‘nutrients mostly take place?

(A) Stomach (B) Smallintestine

(©) Largeintestine (D) Esophagus

) Noneof these

2.

‘Which one oftho following s trus for a persan

inhaling as?

(4) The diaphs
enlarges o
T ot dome apod

(B) The diaphragmnis dome shaped that enlrges
thechos caiy alowingaie o rush ot
ungs.

(©) Thealveoli becomes attened toallowairto
rush into the Hungs

) Thealveoli becomes dome shaped to allow
air torush into tho lungs

) None ofthese.

s in flattened state that
est cavity allowingairtorush

3. Ono of the Ablatic components present in the
environment s air. The major components of
theairare Nitrogen, Oxygon, Argon, and Carbon
diaxide. Select the option that shows the correct
order of percentage of each component in the
air in decreasing order that s the component
with bighest percentage is wrillen first and that
with lowestis written last.

(A) Nitrogen->Oxygen — Argon —Carbon
dioxids L i

() Oxygen - Nitrogen —» Argon->Carbon
dioxide i

(©) Nitrogen—> Argon—s Oxygen->Carbon

© ot 8¢ Y8

©) Carbon dioxide —» Oxygen —»Nitrogen
Argon

(8) Noneof these

34, Given below the two statements:
Statement A: Matler and energy low between
organisms and physical environment.
‘Statement B: Living organistns, such as producers
‘and consumers am abiotic factors presentin the
environment.
Which one of the fllorwing is correct with rogard to
above stalements?

() Only Statement Als correct.

(®) Only Statement Bis correct.
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(C) Both Statement Aand Statement Bare corroct.

(D) Both Statement A and Statement B are
incorrect

(E) None of these

5. Atwhattrophic level inthe food chs
autotrophs are present.

(A) First trophic level

() Second trophic level

(C) Third trophic level

(D) Fourth trophiclevel

) Noncof these

36. Animals and sea creatures are hurt and killed
every day by discarded plastic. In which one of
the folloswing ways plastic bags kill animals?
(A) Plastic clogs windpipo and leads o death.
(®) Platic proveatsthe supply of ar in their

Iy,
(€) Plastic clogs their intestines and leads toslow
starvation.

() Allofthese  (E) Noneof these

7. 10 m stick is divided into two cqual halves,
One half stick is kept and the othee is thrown
away. One fourth portion of the remaining stick
is cut and thrown away. Then again the

remaining stick is divided into two halves and

one half is thrown away. What percentage of
10cm stick has left afler throwing the above
mentioned parts?

(@) 20% ® 187%

© 185% o) 16.7%

) 15.6%

Youmay have seen that when some part of your
body is injured, the blood flows out very fust
initially, but afler 2-3 minutes it coagulates to
form ablood clot. Which component of the blood
isresponsible for this biood clotting?

(4) Red blood cells () Blood platolets

(©) White blood cells (D) Blood plasma

(E) None of these

39,

Which of the following parts of brain controls
involuntary actions?

(4) Cerebrum () Cerebellum
(©) Medullaoblongata

(D) Brainis not nvalved atall

() Noneof these

0. Silk saree is very famous among females. The
process of making silk is very lime consumiy
i nvolves greaterefion. What kind o ber
() Natural fiber
(©) General iber
) Noneof these

(B) Synthetic iber
() Simple fiber
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